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1. (1) What is meant by Cost Accounting ? State

(ST W) any four differences between Financial
Paper : BC-08 Accounting and Cost Accounting.
Time : 1% Hours | [ Maximum Marks : 80 AT SR o e ity § 7 fasi o

Note .— The question paper is divided into two Sections T AW A H A AW : e

A and B. Write answers as per the given (1) What is meant by Re-order Level ? Give
instructions. formula.
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g & EYER W+ & W e (iii) Calculate the variable overhead per unit :
Section-A xa=lé Total Volume of

Very Short Answer Type Questions
(Very w ype Q ) Overhead | Production

Note .— Answer any four questions. As per the nature of

4 %
the question delimit your answer in one word, one ®) ®)
sentence or maximum up to 30 words. Each Level I 12,200 900
question carries 4 marks. Level 11 15,400 1,300
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(vi)
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Define Unit Costing Method. State the name
of four industries where unit costing is
applied.
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What do you understand by (a) Joint Product
and (b) By Product ?
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Mention name of four important control

accounts maintained in Non-integrated
system of Accounting.
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(vii) Why cost and financial accounts are

reconciled ?
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(viii) Standard price of material ¥ 18 per Unit.

Note —
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Actual Price of material ¥ 20 per Unit.

Actual quantity 1s 100 kg.

Calculate Material Price Variance.
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(Short Answer Type Questions)

Answer any four questions. Each answer should not

exceed 200 words. Each question carries 16 marks.
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2. Calculate the earnings of a worker under (a) Halsey

Plan and (b) Rowan Plan from the following

particulars :
(1) Hourly rate of wages ¥ 5 per hour.

(i1)) Standard time for producing one dozen
articles : 3 hours

(iii) Actual time taken by the worker to produce
20 dozen articles : 48 hours
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. Discuss four important methods of Absorption of
Factory Overheads.
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. Write explanatory notes on the following :

(@) Sub-contract Cost

(b) Certification of work done

(c) Cost Plus Contracts

(d) Retention Money
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. Explain Normal wastage, Abnormal wastage and

Abnormal effectives. How should these be dealt
within process accounts ?
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. What are the objects of Material Control ? State

briefly the various methods for pricing the issue
of material (any two)
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7. Write short notes on the following :

(@) Absolute Tonne km.

(b) Commercial Tonne km.

(¢) Daily Log Sheet

(d) Vehicle Utilization Ratio
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(31) RS <A TR

(9) =forfsas < fRemHeR

(9) sfe <t 3

(%) et ST ST

. A company produces a single article and sells it at

% 10 per unit. The marginal cost of production
per unit is ¥ 6. Fixed cost is ¥ 4,000 per annum.
Calculate :

(i) The P/V Ratio

(ii)) The Break-even Sales in Units

(ii1) The Sales to earn a Profit of ¥ 5,000
(iv) Profit at Sales of ¥ 30,000

(v) New Break-even Point if selling price is
reduced by 10%.
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. Define ‘Standard Cost’. Explain the process of

calculating labour variances with illustration.
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